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Math 121 Self-Assessment Quiz #4 Week 5

• Please see the course webpage for the answer key.

1. ///////////////Compute//////////////////////////////////////////////////////////////////////////////////////////////////////

∫
x4 − 2x3 + 4x2 − 17x + 10

x3 − 3x2 + 2x− 6
dx =

∫
x4 − 2x3 + 4x2 − 17x + 10

(x− 3)(x2 + 2)
dx.

***IGNORE #1 here for Spring 2023

2. Compute

∫
x + 7

x2 + 6x + 14
dx.

3. Compute

∫ ∞

2

x

e3x
dx.

4. Compute

∫ ∞

3

7

x2 + 3x− 10
dx.

5. Compute

∫ ∞

8

1

x2 − 10x + 28
dx.


